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SUBTOPICS:IMAGESFORMEDBYAPLANESURFACE.

CONTENTS.

Whentwoplanemirrorsareinclinedtoeachotheratanangle.Severalimagesareformed.If

theanglebetweenthemirrorsisθ.Thenumber(n)ofimagesformedisgivenby

n=360/θ-1.

However,whenthetwomirrorsareparalleltoeachother,thenumberofimageswillbeinfinite.

Example1:Anobjectisplacedbetweentwomirrorsinclinedatoootoeachother.Whatisthe

numberofimagesobserved?

SOLUTION.

n=360/θ-1.

n=360/90-1

n=4-1

n=3.

Example2:Whatwillbetheanglebetweentwoinclinedmirrorswhenthenumberofimagesis

eight?

SOLUTION.

n=360/θ-1.

8=360/θ-1

8+1=360/θ.

9θ=360.

θ=360/9.



θ=40o.

APPLICATIONSOFPLANEMIRRORS.

1.Itisusedinsimpleperiscope;thisismadeoftwoplanemirrorsfacingeachotherand

inclinedat45otothelinejoiningthetwoasshowninthediagrambelow.

2.Itisusedasalookingglass.



3.Itisusedinsextant.

4.Itisusedinkaleidoscope;thisismadewhentwoplanemirrorsareinclinedat60oasshown

inthe diagrambelow.

EFFECTSOFMIRRORROTATIONONAREFLECTEDRAY.

Whenamirrorisrotatedorturnedthroughθ,theangleofrotationofthereflectedrayis2θ.

Example3:Theanglebetweenafixedrayoflightandaplanemirroris20o.Ifthemirror

rotatesthrough30o,byhowmanydegreesdoesthereflectedrayrotate?

SOLUTION.

Themirrorrotatesthrough30o.

Therefore,thereflectedrayrotatesthrough2x30o=60o.


